Домашнее задание от 19.10.2012
1 Найти [image: image2.png](f(1)f(0,5))°



 , если f(x)=[image: image4.png]



2  Вычислить :  [image: image6.png]8% —-8""—-8%
premperayy




 

3 Найти наименьшее значение функции f(x)=[image: image8.png]


 +6,5

4 Решить уравнения:

А) [image: image10.png]305x+1



 = 27[image: image12.png]



Б) [image: image14.png]25%—4



 =[image: image16.png]16543




В) [image: image18.png]3%



 - 2*[image: image20.png]3*



 - 3 = 0

Г) [image: image22.png]3%+l



 = 27 + 53*[image: image24.png]3*



 + [image: image26.png]3%




5 Решить систему уравнений:

[image: image27.png]



